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Chapter 3
Laws of Algebra

October 06, 2014

« Laws of Exponents
e The Distributive Law
e« The product (a + b)(c + d)
« Difference of two squares
« Perfect squares expressions
e Further expansion
a™ x a" = amt" To multiply numbers with the same base, keep the base and
add the exponents.
a:r: =ag" 2 a#0 To divide numbers with the same base, keep the base and
@ I subtract the exponents.
(™) = a™m*" When raising a power to a power, keep the base and multiply
the exponents.
A
(ab)" = a"b" The power of a product is the product of the powers.
(Eyfn = a_ﬂ b#0 The power of a quotient 1s the quotient of the powers
b)) T o p q S q p S.

a® =1 a+#0

Any non-zero number raised to the exponent zero is 1.

1

and in particular a™

1
—, a #0.
a



Chapter 3 Ongoing.notebook October 06, 2014

Simplify: p3x p8 — P ' 3 x 34 = 2T
- a~q -7
simplify: X o7 7F_ LA
SO % % ¥ Y
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Simplify: (c3)s (38453

C_/S 3 (Q

Simplify using am x an = am+n

a kY xk? b 52 x5 ¢ d3 xd’ d 114 x 11

- 5 A" ”%a

Simplify using :_nm = gm-n

E12 \&"‘0 yﬁ < m M- q rda
c = K B v S — t h —.
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Simplify using (am)» = amxn
a (5%)? b (c*)? c (3%)4 d (v9)p
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Simplify

a b xb’ - ¢ (15)?
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Write as powers of 2:
a 2'x 2 b 4x2 ¢ 8x 2 ’b*‘,—
S, P U
a +
2 af’@’—\n)
R = h — — 3——:0-2
433 $ 5= o &l-v\
) a-l+n
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Write as powers of 3:

2 n
a 9x3r b 27¢ 9 ¢ 3x9" = 3—(} )

3. F (33) AL LI
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\ = 2
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Write without brackets  (4x)3 x3y 4
T2 z2
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